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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .
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 Answer all questions from 1 to 6. Each carries 1 score. (6  1 = 6) 

1. Identify the example for ‘Complementary goods’ from the following : 

 (a) Pen and Ink (b) Tea and Coffee 

 (c) Bus and Train (d) Shoes and Chappal 

 

2. Difference between total revenue and total cost :  

 (a) Normal profit (b) Profit 

 (c) Super normal profit (d) Break-even point 

  

3. The branch of economics which studies ‘economy as a whole’ : 

 (a) Positive economics (b) Micro economics 

 (c) Macro economics (d) Normative economics 

 

4. When demand curve alone shifts to rightward, equilibrium price and quantity 

 (a) Decreases (b) Unchanged 

 (c) Increases (d) None of these 

 

5. Money value of all goods and services produced in a country during a year 

 (a) Gross Domestic Product (b) Personal Income 

 (c) Net National Product (d) National Income 

 

6. In a two-sector economy, if Y = 
–
A + cY, 

–
A is 

 (a) 
–
C only  (b) 

–
I 

 (c) 
–
C + 

–
I  (d) None of these 
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 1  6    . 1  . 
     (6  1 = 6) 

1.     ‘  ’    : 

 (a)   (b)   

 (c)   (d)   

 

2.       :  

 (a)   (b)  

 (c)   (d) -   

  

3. ‘  ’     : 

 (a)   (b)   

 (c)   (d)   

 

4.     ,     

 (a)  (b)  

 (c)  (d)  

 

5.        
   

 (a)    (b)   

 (c)    (d)   

 

6.    ,  Y = 
–
A + cY , 

–
A  

 (a) 
–
C  (b) 

–
I  

 (c) 
–
C + 

–
I   (d)  
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7. Pick out the correct one from the following :  (1) 

 (a) APC = 1 – MPS (b) APC = 1 – MPC 

 (c) APC = 1 – APS (d) APC = APS + MPS 

 

8. State whether True or False :   (2) 

 (a) Marginal cost is addition to total cost by an additional unit of output. 

 (b) The situation in which market demand is greater than market supply is excess 
supply. 

 

9. Connect columns A and B :   (1 × 5 = 5) 

A B 

(a) GDP deflator (i) TFC / Q 

(b) Sector of an economy (ii) 
GDP
gdp   100 

(c) Average fixed cost (iii) 
1 + cdr

cdr + rdr 

(d) Monopolistic Competition (iv) Foreign Sector 

(e) Money Multiplier (v) Differentiated Products 

 

10. Identify the person from the following pictures who is known as “Father of Macro 
Economics”.   (1) 

 [Hint : J.M. Keynes] 

 

(a)

  

(b)

  
 

 

(c)

  

(d)
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7.        : (1) 

 (a) APC = 1 – MPS (b) APC = 1 – MPC 
 (c) APC = 1 – APS (d) APC = APS + MPS 
 

8.     :   (2) 

 (a)        
   . 

 (b)       
 . 

 

9.  A- B-  :   (1 × 5 = 5) 

A B 

(a)     (i) TFC / Q 

(b)    (ii) 
GDP
gdp   100 

(c)    (iii) 
1 + cdr

cdr + rdr 

(d)   (iv)   

(e)  (v)   

 

10.     “   ” 
  .  (1) 

 [ : . .  ] 

 

(a)

  

(b)

  
 

 

(c)

  

(d)
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 Answer any 6 questions from 11 to 17. Each carries 2 scores. (6  2 = 12) 

11. Write down any two features of perfect competition. 

 

12. Two demand curves is given below. Identify the forms of market : 

 

(a)

  

(b)

  

 

13. Fill the given chart : 

 
 

14. Differentiate between ‘Ex-ante’ consumption and ‘Ex-post’ consumption. 

 

15. List out the two important components of Balance of Payment (BoP). 

 

16. Write down the forms of market for given firms :  

Firms Market Form 

(a) Railway ____________ 

(b) Soap Industry ____________ 

 [Hint : Oligopoly, Perfect Competition, Monopoly, Monopolistic Competition] 

 

17. One of the economic functions of government is given. Fill the other two. 

 (a) Allocative function 

 (b) ____________ 

 (c) ____________ 
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 11  17    6   . 

2  .   (6  2 = 12) 

11.      . 
 

12.          
  : 

 

(a)

  

(b)

  
 

13.      : 

 

 
14. ‘’  ‘’    .  
 

15. ‘’  (BoP)     . 
 

16.         
  :  

   

(a)  ____________ 

(b)   ____________ 

 [ :  ,  , ,  ] 

 

17.     .   . 

 (a)   

 (b) ____________ 

 (c) ____________ 

 

  

 
 
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 Answer any 5 questions from 18 to 23. Each carries 3 scores. (5  3 = 15) 

18. Classify the following features into market economy and centrally planned economy : 

 Price mechanism, Planning, Welfare motive, Profit motive, Private property, Public 

ownership. 

 

19. Match the following : 

A B 

(i) Marginal Propensity to consume (a) C = 
–
C + cY 

(ii) Output Multiplier (b) S / Y 

(iii) Consumption function (c) 
1

1 – C 

 

20. List of some functions of Commercial Banks are given below : Categories them in a 

table into primary functions and secondary functions.  

 Accepting Deposits, Transfer of Bank Deposits, Lending Loans, Issuing ATM Card, 

Overdraft Facility, Internet Banking.  

Primary Functions Secondary Functions 

  

  

  

 

21. Prepare a table showing features of Monopoly and Oligopoly. 

 

22. Fill in the terms properly chosen from the bracket : 

 (a) GNP (–) Depreciation = _________ 

 (b) Gross Investment (–) _________ = Net Investment 

 (c) _________ (–) NIT = GDPFC 

  [Depreciation, NNP, NDP, GDPMP] 

 

23. Differentiate between Price Ceiling and Price Floor. 
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 18  23    5   . 
3  .   (5  3 = 15) 

18.      ,  
     . 

  , ,  ,  ,  
,   

 

19.   : 

A B 

(i)    (a) C = 
–
C + cY 

(ii)   (b) S / Y 

(iii)   (c) 
1

1 – C 

 

20.       ,  
      : 

  ,   ,  , ATM 

 ,   ,    

    

  

  

  

 

21.      
   . 

 

22.       : 
 (a) GNP (–)  = _________ 

 (b)   (–) _________ =   

 (c) _________ (–) NIT = GDPFC 

  [, NNP, NDP, GDPMP] 

 

23.       . 
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 Answer any 3 questions from 24 to 27. Each carries 4 scores. (3  4 = 12) 
24. Calculate TR, AR and MR from the given table. The price of unit of a good is given as 

` 15. 

Quantity of Output TR AR MR 
0    

1    

2    

3    

4    

5    

6    

 
25. Diagrammatically explain flexible exchange rate system. 
 
26. (a) Mention the properties of Indifference Curve. 
 (b) Observe the given diagram : 

   
  Identify : 
  (i) Line ‘AB’ 
  (ii) Point ‘E’ 
 
27. Complete the diagram showing ‘Circular flow of income’ with given hints : 
 [Hints : Factor Services, Goods and Services, Factor incomes, Spending] 
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 24  27    3  . 
4  .   (3  4 = 12) 

24.      TR, AR, MR .   
  15 . 

  TR AR MR 
0    

1    

2    

3    

4    

5    

6    

 

25.       . 
 

26. (a)    ? 
 (b)       : 

   
  (i) ‘AB’  
  (ii)  ‘E’ 
 

27.     ‘ ’  : 
 [ :  ,  ,  , 

] 

 

 
 

 
 
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 Answer any 2 questions from 28 to 30. Each carries 5 scores. (2  5 = 10) 

28. Diagrammatically explain the ‘Law of Variable Proportions’. 

 

29. From the table given below, answer the following questions :  

Price  

(`) 

Demand  

(kg) 

Supply  

(kg) 

1 150 25 

2 100 50 

3 75 75 

4 50 50 

5 25 25 

 (a) Find the ‘market equilibrium’ point by drawing diagram. 

 (b) Find the ‘Equilibrium price and quantity’ from the table. 

 (c) Identify ‘excess demand’ and ‘excess supply’ from the table. 

 

30. Explain any two methods of measuring National Income. 

 

 Answer any 2 questions from 31 to 33. Each carries 8 scores. (2  8 = 16) 

31. The price of good ‘X’ is ` 10 per unit. Its quantity demanded is 500 units. When its 

price increases to ` 15 per unit, quantity demanded is same as 500 units. 

 (a) Calculate elasticity of demand. 

 (b) Name the degree of elasticity and draw the demand curve. 

 (c) List out the other degrees of elasticity of demand. 
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 28  30    2  . 

5  .   (2  5 = 10) 

28. ‘ ’    . 

 

29.    ,   :  

  

(`) 

  

(kg) 

  

(kg) 

1 150 25 

2 100 50 

3 75 75 

4 50 50 

5 25 25 

 (a)    ‘ ’  . 

 (b) ‘  ’   . 

 (c) ‘ ’, ‘ ’   . 

 

30.       . 

 
 31  33    2   . 

8  .   (2  8 = 16) 

31. ‘X’     10 .   

  500 .    15  

,    500   . 

 (a)   . 

 (b)       . 

 (c)     . 
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32. (a) Prepare a chart showing components of Budget. 

 (b) Fill in the terms showing measures of government budget deficit : 

  (i) Revenue deficit = _________ (–) Revenue receipts 

  (ii) ________ = Total expenditure (–) Total receipts excluding borrowings 

  (iii) Primary deficit = Fiscal deficit (–) _________ 

 

33. From the given table : 

Q TC TFC TVC AFC AVC AC MC 

1 120 100      

2 130 100      

3 140 100      

4 160 100      

5 190 100      

6 240 100      

 (a) Complete the table. 

 (b) Draw AC and MC, TC, TFC and TVC curves. 

_____________ 
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32. (a)         . 

 (b)                 

  : 

  (i)   = _________ (–)   

  (ii) ________ =    (–)     

  (iii)   =   (–) _________ 

 

33.      : 

Q TC TFC TVC AFC AVC AC MC 

1 120 100      

2 130 100      

3 140 100      

4 160 100      

5 190 100      

6 240 100      

 (a)  . 

 (b) AC- MC-, TC, TFC, TVC  . 

_____________  
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
     . 
      

    .
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Answer all questions from 1 to 6. Each carries 1 score. (6  1 = 6) 

1. The process of looking at oneself from the outside is called ________. 

 

2. The Panchayati Raj in India was implemented by the ________ Amendment of the 

Constitution. 

 

3. Machine production using power resources like steam or electricity is called ________. 

 

4. Alienation is the idea of ________. 

 

5. In India the Right to Information Act was passed in the year ________. 

 

6. The strategy used by the landlords to keep control over the land by dividing them 

among the relatives and others is called ________. 

 

 Answer all questions from 7 to 12. Each carries 1 score. (6  1 = 6) 

7. The study of birth, death, migration, marriage, divorce etc. is called 

 (a) Formal Demography (b) Informal Demography 

 (c) Statistics (d) Social Demography 

 

8. Who coined the term status symbol ? 

 (a) Karl Marx (b) Max Weber 

 (c) Emile Durkheim (d) August Comte 

 



SY 69  3 P.T.O. 

1  6    . 1  . 

    (6  1 = 6) 

1.      ,  

   ________  . 

 

2.   ________     

. 

 

3.        

  ________  . 

 

4.  ________  . 

 

5.         ________ . 

 

6.            

     ________  . 

 

 7  12    . 1  . 

     (6  1 = 6) 

7. , , , ,     

  

 (a)   (b)    

 (c)  (d)   

 

8.        ? 

 (a)   (b)   

 (c)   (d)   
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9. The first school for girls in Pune was started by _______. 

 (a) Ranade (b) Raja Ram Mohan Roy 

 (c) Jyothiba Phule (d) Gandhiji 

 

10. The process of mixing of global culture with local is called ________. 

 (a) Glocalisation (b) Globalisation 

 (c) Localisation (d) Modernisation 

 

11. ________ is the Backward Class Commission Chairman appointed by Kerala  

Government in the year 1970. 

 (a) Kaka Kalelkar (b) B.P. Mandal 

 (c) P.D. Nettoor (d) Wadia 

 

12. Naxalbari Movement started in the state of ________. 

 (a) Orissa (b) West Bengal 

 (c) Tamil Nadu (d) Kerala 

 

13. Match the following : (5  1 = 5)  

 (A)   (B) (C) 

(a) Raja Ram Mohan Roy Andhra Pradesh Coorg 

(b) Ranade Thahsib-e-Niswan The Sources of Knowledge 

(c) M.N. Srinivas Sanskritisation Journal  for women 

(d) Veeresalingam Brahma Samaj Widow re-marriage 

(e) Jahanara Shanavas Prathana Samaj Bengal 
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9.       _______ 

. 

 (a)  (b)    

 (c)   (d)  

 

10.        ________ 

 . 

 (a)  (b)  

 (c)  (d)  

 
11.       1970-           

________ . 

 (a)   (b) ..  

 (c) . .  (d)  

 

12.        ? 

 (a)  (b)   

 (c)  (d)  

 

13.   : (5  1 = 5)  

 (A)   (B) (C) 

(a)       

(b)  -- 

 

  

(c) M.N.    

 

(d)       

(e)      
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 Answer all questions from 14 to 16. Each question carries 2 scores.  (3  2 = 6)  

14. Name any four tribes in India. 

 

15. Define Flexitime. 

 

16. What is meant by infotainment ? 

 

 Answer any 3 questions from 17 to 20. Each carries 3 scores. (3  3 = 9) 

17. Complete the chart : 

 

 

18. Define Sanskritisation & de-Sanskritisation. 

 

19. Major land reforms introduced by the government after independence.  

 

20. What is Outsourcing ? Clarify the concept. 
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 14  16    . 2  . 

     (3  2 = 6) 

14.        . 

 

15.  . 

 

16.       ? 

 

 17  20    3   . 

3  . (3  3 = 9)  

17.   : 

 

 

18.   . 

 

19.             

 ?  

 

20.    ?  . 

 

  
 

 
 

 
 
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 Answer any 3 questions from 21 to 24. Each carries 4 scores. (3  4 = 12) 

21. Differentiate between social map and geographical map. 

 

22. Complete the chart : 

 

 

23. What is a Civil Society ? Mention its main features. 

 

24. Distinguish between Strikes and Lock-outs. 

 

25. Find out the concepts behind the sentence below : (5  1 = 5) 

 (a) The stage when birth rate and death rate become zero. 

 (b) Number of deaths of babies before the age of one year per 1000 live births. 

 (c) Number of years that an average person is expected to live. 

 (d) The measure comparing the number of dependent persons with the number of 

people belong to working age group. 

 (e) Increase in the proportion of workers relative to non-workers. 
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 21  24    3   . 

4  . (3  4 = 12) 

21.      . 

 

22.   : 

 

 

23.     ?    . 

 

24.    . 

 
25.       : (5  1 = 5) 

 (a)       . 

 (b)    1000      

 . 

 (c)        . 

 (d)       

   . 

 (e)        

. 

             
    

 
 

 
 

  
 

 
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 Answer any 3 questions from the 26 to 29. Each carries 5 scores. (3  5 = 15) 

26. Explain the concept of Nyaya Panchayat. Write its specialities. 

 

27. Colonialism led to de-industrialisation in some sectors in India. Explain. 

 

28. Culture of consumption and corporate culture are the product of globalisation. Explain 

it briefly. 

 

29. Illustrate the positive and negative impacts of liberalisation. 

 

 Answer any 2 questions from 30 to 32. Each carries 8 scores.  (2  8 = 16) 

30. There are many theories of social movements. 

 (a) Explain any two theories of Social Movement. 

 (b) Illustrate briefly the classification of Social Movement. 

 

31. What do you understand by the word Communalism ? Explain its main features and 

meaning in Indian context. 

 

32. Illustrate the development of mass media in Independent India in your own views. 

_____________  
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 26  29    3   . 

5  . (3  5 = 15) 

26.       . 

 

27.      

. . 

 

28.      

.  . 

 

29.     

. 

 

 30  32    2   . 

8  . (2  8 = 16) 

 

30.      . 

 (a)      

. 

 (b)      . 

 

31.         ?  -

     . 

 

32.       

 . 

_____________  
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

Reg. No. : .....................................  SY 70 

Name : .........................................   
 

Time : 2½  Hours 
  Cool-off time : 15 Minutes 
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 Answer all questions from 1 to 10. 

1. Identify the political party which believed that the transfer of power in 1947 was not 

true independence : (1) 

 (a) Communist Party of India (b) Socialist Party 

 (c) Bhartiya Jana Sangh (d) Swatantra Party 

 

2. Find out the regional organisation established by South Asian States to evolve              

co-operation among them :   (1) 

 (a) ASEAN  (b) SAARC  

 (c) SEATO  (d) OPEC  

 

3. Find out the first non-Congress Prime Minister in India : (1) 

 (a) V.P. Singh (b) Charan Singh 

 (c) Morarji Desai (d) A.B. Bajpayee   

 

4. Write True of False against following statements :  (2) 

 (a) Globalisation is completely an economic phenomena. 

 (b) As a result of globalisation the welfare state is now giving way to a more 

minimalist state.  

 

5. Find out the leaders who signed the ‘Panchasheel’, the five principles of peaceful 

coexistence :    (2) 

 (a) Nehru and Ayub Khan (b) Nehru and Dalai Lama 

 (c) Nehru and Deng Xiaoping (d) Nehru and Zhou Enlai 

 

6. Write the name of a militant organisation of Dalit youth formed in Maharashtra. (1) 
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 1  10     . 

1. 1947-       

   : (1) 

 (a)     (b)    

 (c)    (d)   

 

2.       

     : (1) 

 (a)  (b)   

 (c)  (d)   

 

3.       . (1) 

 (a) ..  (b)   

 (c)   (d) ..    

 

4.       :  (2) 

 (a)      . 

 (b)       

    (minimalist state) .  

 

5.      ‘ 

’      : (2) 

 (a)    

 (b)     

 (c)      

 (d)    

 
6.         -

 .   (1) 
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7. Match Column (A) with (B) :   (3) 

(A) (B) 

V.P. Singh U.P.A. 

A.B. Vajpayee National Front 

Manmohan Singh N.D.A. 

 

8. Identify the socialist leaders who put forwarded the strategy of non-Congressism. (1) 

 (a) Jayaprakash Narayana 

 (b) Ram Manohar Lohia 

 (c) J.C. Kumarappa 

 (d) Acharya Narendra Dev 

 

9. Match Column – A with Column – B appropriately : (3) 

(A) (B) 

Rio Summit Set targets for industrialised countries to cut 

greenhouse gas emissions 

Kyoto Protocol Limits to Growth 

Club of Rome Agenda 21 

 

10. Two agreements are given below. Write the name of leaders who signed them. (2) 

 (a) Punjab Accord 

 (b) Assam Accord 
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7. ()  ()    : (3) 

        () () 

. .  ... 

..    

  ... 

 
8.       

 :   (1) 

 (a)   

 (b)    

 (c) . .  

 (d)    

 
9. ()  ()     

 :    (3) 

() () 

    -

   . 

      

    21 

 
10.    .    . (2) 

 (a)    

 (b)   
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 Answer any 4 questions from 11 to 15. Each carries 3 scores. (4  3 = 12) 

11. Explain India’s nuclear policy. 

        

12. List out the factors contributed to the failure of stable democracy in Pakistan. 

 

13. Analyse the nature of Congress dominance in India compared to other systems like 

China, Cuba, Myanmar. 

 

14. Describe the external and internal disputes relating to Kashmir issue. 

 

15. Discuss the role of Mandal Commission in the political rise of Backward Classes. 

 

 Answer any 5 questions from 16 to 21. Each carries 4 scores. (5  4 = 20) 

16. Explain Cuban Missile Crisis which is an ideal example of Cold War rivalry. 

 

17. Two major outcomes of India’s planned development is given below. Evaluate them. 

  Laid foundations of future economic growth. 

  Land Reforms 

  

18. ‘Anti-Arrack Movement was a women empowerment movement.’ Based on this 

statement discuss Anti-Arrack Movement. 
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 11  15    4   

. 3  .   (4  3 = 12) 

        

11.    . 

        

12.      

. 

 

13.      , , 

   . 

 

14.      . 

 

15.        . 

 

 16  21    5   

. 4  .   (5  4 = 20) 

16.        

 . 

 

17.        . 

 . 

      

   

  

18. ‘      .’  

      . 
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19. Six organs of UNO are given. Write a note on them. 

  Security Council 

  General Assembly 

  Secretariat 

  Trusteeship Council 

  International Court of Justice 

  Economic and Social Council 

 

20. Write a short note on ASEAN.  

 

21. Explain India-Pakistan relations on the basis of issues given below : 

  Kashmir Conflict (1948, 1965) 

  Bangladesh War of 1971 

 

 Answer any 3 questions from 22 to 25. Each carries 5 scores. (3  5 = 15) 

22. Traditional concept of security has external and internal notions. Explain external and 

internal notions of security. 

 

23. Discuss the fifth Lok Sabha election of 1971 and restoration of Congress Party. The 

following hints can be used : 

  The contest (1971 election) 

  The outcome and restoration 
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19.     .   

. 

    

    

   

     

     

     

 

20.   (ASEAN)     .  

 

21.    -   : 

    (1948, 1965) 

  1971      

 

 22  25    3   

. 5  .   (3  5 = 15) 

22.       

.    . 

 

23. 1971-      

  .    : 

    (1971  ) 

    



SY 70 10 

24. Analyse the resistance to globalisation at global level and at national level in India. 

 

25. Critically analyse ‘Shock Therapy’ in post communist regimes and list out its 

consequences. 

 

 Answer any 2 questions from 26 to 28. Each carries 8 scores. (2  8 = 16) 

26. On 14th and 15th August, 1947 Pakistan and India came into existence as a result of 

Partition. Explain Partition and its consequences on the basis of hints given. 

  Two Action Theory 

  Process of Partition 

  Consequences of Partition 

 

27. Some incidents which proved the establishment of new world order is given. Explain 

them. 

  First Gulf War 

  Operation Infinite Reach 

  9/11 and Global War on Terror 

  Operation Iraqi Freedom 

 

28. Describe the factors that led to the declaration of National Emergency on 25th June, 

1975. 

____________ 
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24.     

    . 

 

25.    ‘ ’  

     . 

 

 26  28    2   

. 8  .   (2  8 = 16) 

26. 1947  14  15      

.      

 . 

    

    

    

 

27.        .  

. 

     

     

  9/11     

     

 

28. 1975  25     

 . 

____________  



SY 70 12 

 



SY 71  1 P.T.O. 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

     . 

      
    .

Reg. No. : .....................................   SY 71 

Name : .........................................   
 

Time : 2½ Hours 
  Cool-off time : 15 Minutes 

 

Part – III 
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Answer all the questions from 1 to 8. Each carries 1 score. (8  1 = 8) 

1. Which of the following is borrowed capital ?  

 (a) Equity shares (b) Preference shares 

 (c) Debenture (d) Retained earning 

  

2. ________is a technique of Scientific Management. 

 (a) Functional Foremanship (b) Authority and Responsibility 

 (c) Unity of Command (d) Order 

  

3. Management is ________. 

 (a) all pervasive (b) a continuous process 

 (c) a group activity (d) All of these 

  

4. ________ is the first function of management. 

 (a) Controlling (b) Planning 

 (c) Directing (d) Staffing 

  

5. Identify the modern technique of controlling : 

 (a) Personal observation (b) Budgetary control 

 (c) Management audit (d) Break even analysis 

  

6. Entrepreneurs are the people who are ________. 

 (a) Employees of the firm (b) Starting a business 

 (c) Do not take risks (d) No relation to business 

 

7. According to Consumer Protection Act, 1986 to which forum, a complaint to the value 

of ` 1,000 has to be given ? 

 

8. Name any one stock exchange functioning in India. 
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 1  8     . 1  .  

     (8  1 = 8) 

1.      ?  

 (a)   (b)   

 (c)  (d)   

  

2.     ________. 

 (a)   (b)   

 (c)    (d)  

  

3.     ________. 

 (a)  (b)   

 (c)    (d)  

  

4.    ________. 

 (a)  (b)  

 (c)    (d)  

  

5.      : 

 (a)   (b)   

 (c)      (d)     

  

6.    

 (a)    

 (b)   

 (c)    

 (d)   

 

7. 1986-    1000    

      ? 

 

8.       . 
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 Answer any 5 questions from 9 to 14. Each carries 2 scores. (5  2 = 10)  

9. Identify the following as Formal Organisation and Informal Organisation as given in 

example. 

Eg. Government Office Formal Organisation 

(a) School  

(b) Recreation Club  

 

10. One of the important financial decision is investment decision. Explain any other 

financial decision. 

 

11. Explain any two features of business environment. 

 

12. Identify the pattern of communication given below : 

  

 (a)  

 
(b)

  

 

13. ‘Coordination is the essence of management’. Explain the statement. 

 

14. Fill up the columns with internal or external source of recruitment. 

Eg. Promotion Internal Source 

(a) Transfer  

(b) Campus Recruitment  
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 9  14    5   . 

2  .   (5  2 = 10) 

9.      

 . 

:     

(a)   

(b)    

 

10.      .  

   . 

 

11.      . 

 

12.       : 

         

 (a)  

 
(b)

  

 

13. ‘  .’  . 

 

14.        

 : 

:    

(a)    

(b)      

: 
  
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 Answer any 5 questions from 15 to 20. Each carries 3 scores.    (5  3 = 15) 

15. Fill up the remaining columns with other business environment. 

 

 

16. Explain any two techniques of Scientific Management. 

  

17. Match the column ‘A’ with ‘B’ : 

‘A’ ‘B’ 

(a) Coaching Incentive 

(b) Cash awards  Recruitment 

(c) Employment Exchange Training 

 

18. According to Abraham Maslow’s need hierarchy theory, to which needs of human 
being are the following belongs to ?  

 [Hint : Basic need, Safety need, Affiliation need] 

 (a) To have friendship 

 (b) Need for food 

 (c) Job security 

 

19. Fill up the columns in the three level distribution channel. 

 Eg., One level channel 

 

 

 

Retailer Consumer Producer 

  Producer  Consumer 
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 15  20    5   . 

3  .   (5  3 = 15) 

15.        . 

 
 

16.      . 

  

17.  ‘’    ‘’    : 

 ‘’ ‘’ 

(a)   

(b)     

(c)      

 

18.        -
      ?  

 [ :  ,  ,  
] 

 (a)   

 (b)   

 (c)   

 

19.         . 

 :  One level channel 

 

 

 

Retailer Consumer Producer 

  Producer  Consumer 

 
 

  

  
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20. Identify the level of management the following belongs to : 

 [Hint : Three levels of management] 

(a) Chief Executive  

(b) Production Manager  

(c) Foreman  

 

 Answer any 4 questions from 21 to 25. Each carries 4 scores. (4  4 = 16) 

21. Describe any four principles of Henry Fayol’s fourteen management principles. 

 

22. Authority is one element of delegation. Explain other two elements of it. 

 

23. Complete with steps in controlling the correct sequence : 

 Setting Standards 

  

(a) ? 

  

(b) ? 

  

(c) ? 

  

(d) ? 

 

24. Write four elements of Marketing. 

 [Hint : 4 Ps of Marketing]  

 

25. Briefly describe any two points on importance of entrepreneurs in our country.  
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20.       

 : 

 [ :      ]  

(a)    

(b)    

(c)   

 

 21  25    4   . 

4  .   (4  4 = 16) 

21.              

. 

 

22.       .   

   . 

 

23.      : 

   

  
(a) ? 

  
(b) ? 

  
(c) ? 

  
(d) ? 

 

24.     . 

 [ :  4 . ]  

 

25.       

 .  
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 Answer any 3 questions from 26 to 29. Each carries 5 scores. (3  5 = 15) 

26. State the rights, Consumer Protection Act, 1986 provide to Indian consumers. 

 

27. Write brief note on any two types of training. 

 

28. Explain single use plan and standing plan with one example each for them. 

 

29. Fill up the columns with money market and capital market as given in example. 

Eg. SEBI is the market regulator Capital Market 

(a) Wholesale debt market  

(b) Long term funds are raised  

(c) Short term funds are raised  

(d) Regulator is Reserve Bank of India  

(e) Equity shares can be bought and sold  

 

 Answer any 2 questions from 30 to 32. Each carries 8 scores. (2  8 = 16) 

30. Describe any four aspects to improve the quality of communication. 

 

31. Explain any four determinants of fixed capital requirement of a firm. 

 

32. Explain any four factors to be considered for fixing the price of a product. 

____________ 
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 26  29    3   . 

5  .   (3  5 = 15) 

26. 1986-       

 . 

 

27.       . 

 

28.         

. 

 

29.  ,  ,    

 . 

:      

(a)     

(b)     

(c)     

(d)     

 

 

(e)    

  

 

 

 30  32    2   . 

8  .   (2  8 = 16) 

30.       

  

 

31.       

   . 

 

32.          

. 

____________  
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

Reg. No. : .....................................  SY 72 

Name : .........................................   
 

Time : 2½ Hours 
  Cool-off time : 15 Minutes 
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PART – A 

     ACCOUNTANCY  
 

 Answer all questions from 1 to 5. Each carries 1 score.  (5  1 = 5) 

1. Which among the following is a capital receipt of ‘not for profit organisations’ ? 

 (a) Subscriptions (b) Sale of periodicals 

 (c) General donations (d) Life membership fees 

 

2.  Receipt and Payment Account is a summarised version of _______. 

 (a) Cash Book (b) Balance Sheet 

 (c) Trading Account (d) None of these 

 

3.  In the absence of partnership deed interest on partner’s loan is given at ______. 

 (a) 8%   (b) 5% 

 (c) 6%   (d) 9% 

 

4.  A Journal Entry is given below, in relation with the dissolution of a firm. Identify the 
transaction of it. 

 Partner’s Capital A/c Dr. 

  To, Realisation A/c 

 (a) Assets taken over by a partner. 

 (b) Liability taken over by a partner. 

 (c) Sale of assets. 

 (d) Settlement of liabilities. 

 

5.  If goodwill already appears in the books of accounts, it is written off by debiting all 
Partners Capital A/c in their _____ ratio. 

 (a) Gaining  (b) Sacrificing   

 (c) New   (d) Old  
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  –  

 

  1  5    . 1  . 

        (5  1 = 5) 

1.   ‘  ’ 
   ? 

 (a)  (b)   

 (c)   (d)    

 

2.   - ,  _______   . 

 (a)   (b)   

 (c)   (d)  

 

3.          
______ . 

 (a) 8%   (b) 5% 

 (c) 6%   (d) 9% 

 

4.         
  .   . 

 Partner’s Capital A/c Dr. 

  To, Realisation A/c 

 (a) ,  . 

 (b) ,  . 

 (c)  . 

 (d)   . 

 

5.      ‘ ’ .   
      
  ________ . 

 (a)    (b)   

 (c)   (d)   
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 Answer any 2 questions from 6 to 8. Each carries 2 scores. (2 × 2 = 4) 

6. What is sacrificing ratio ? How it is calculated ? 

 

7. Give two examples for not-for profit organisations. 

 

8. Write any two ways in which the dissolution of a firm taken place. 

 

  Answer any 3 questions from 9 to 12. Each carries 3 scores. (3 × 3 = 9) 

9. Write any three differences between Receipt and Payment A/c and Income and 

Expenditure A/c. 

 

10. List the modes of payment to a retiring partner. 

 

11. Anu, Binu and Sinu are partners in a firm sharing profits and losses in the ratio of 

3 : 2 : 1. Anu retires and Binu and Sinu decides to continue. Calculate their new ratio 

and gaining ratio. 

 

12. Write any three differences between fixed capital and fluctuating capital method of 

maintaining capital accounts. 
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 6  8    2   .              

2  .    (2 × 2 = 4) 

6.     ?     ? 

 

7.      . 

 

8.     . 

 

   9  12    3   .              

3  .   (3 × 3 = 9) 

9.  - ,       

 . 

 

10.        . 

 

11. , ,     3 : 2 : 1  

 .     -

       

     . 

 

12.   ,       

. 
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 Answer the following question, which carries 4 scores. (1 × 4 = 4) 

13. Calculate interest on drawings from the following, if the interest is charged at 10% p.a. 
The books are closed on 31st December every year. 

Date 
Amount of Drawings 

(`) 

January 1, 2016 5,000 

March 31, 2016 8,000 

June 1, 2016 10,000 

December 1, 2016 4,000 

 

 Answer all questions from 14 to 15. Each carries 5 scores. (2 × 5 = 10)  

14. Calculate income from subscriptions for the year 2014-15 from the following : 

        ` 

 Subscriptions received as per Receipts and Payments A/c  –  1,50,000 

 Subscriptions outstanding on 01-04-2014  – 40,000 

 Subscriptions outstanding as on 31-03-2015 –  20,000 

 Subscriptions received in advance on 01-04-2014  –  15,000 

 Subscriptions received in advance as on 31-03-2015  –  25,000 

 

15. Surya and Arya are partners sharing profits and losses in the ratio of 2 : 1. Their 
Balance Sheet as on 31st March, 2018 is given below : 

Liabilities Amount  

(`) 

Assets Amount  

(`) 

Surya’s capital 50,000 Bank 20,000 

Arya’s capital 30,000 Stock 15,000 

Creditors 15,000 Debtors 10,000  

Reserve fund 2,000 Less : Provision       500 9,500 

  Fixed assets 52,500 

 97,000  97,000 
    

 The firm dissolved on March 31, 2018. Prepare realisation account by considering the 
following information : 

 (1) Debtors realised at a discount of 5%. 
 (2) Stock realised ` 10,000. 
 (3) Fixed assets sold for ` 50,000. 
 (4) Realisation expenses amounted to ` 1,500 
 (5) Creditors were paid in full. 
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     . 4 . (1 × 4 = 4) 
13.       . 

  10%.     31-  
. 

 
  

() 

 1, 2016 5,000 

  31, 2016 8,000 

 1, 2016 10,000 

 1, 2016 4,000 

 
  14  15    . 5  . 
        (2 × 5 = 10) 
14.      2014-15    

  : 
            
   –       –  1,50,000 
 01-04-2014     –  40,000 
 31-03-2015    –  20,000 
 01-04-2014      –  15,000 
 31-03-2015      –  25,000 
 
15.    2 : 1    -  . . 

2018   31       : 
    

  50,000  20,000 

  30,000  15,000 

 15,000   10,000  

  2,000 Less:        500 9,500 

    52,500 

 97,000  97,000 
    

 2018,  31     .   
       : 

 (1)  ,   5% . 
 (2)    – 10,000 . 
 (3)    – 50,000 . 
 (4)   – 1,500 . 
 (5)    . 
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 Answer any 1 question from 16 to 17. Carries 8 scores. (1 × 8 = 8) 

16. What is goodwill ? Explain the various methods of valuation of goodwill. 

 

17. Given below is the Balance Sheet of Amal and Bimal, who are in partnership sharing 

profits and losses in the ratio of 2 : 1.  

Balance Sheet of Amal and Bimal as on 31 December, 2016 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors 50,000 Cash in hand 10,000 

Bank overdraft 9,000 Sundry debtors 60,000 

Outstanding expanses 1,000 Stock 40,000 

Capital :  Plant 50,000 

 Amal 80,000 Buildings 40,000 

 Bimal 60,000   

 2,00,000  2,00,000 

    

 Kamal is admitted as a partner on the date of Balance Sheet on the following terms : 

 (a) Kamal will bring ` 50,000 as capital and 24,000 as his share of goodwill, for 1/4 

share profit. 

 (b) Plant is appreciated by ` 10,000. 

 (c) Stock is found overvalued by ` 1,000. 

 (d) Provision for bad debt is created at 5% on debtors. 

 Prepare Revaluation Account, Capital Account and Balance Sheet after the admission of 

Kamal. 
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 16  17    1   .              
8 .     (1 × 8 = 8) 

16. ‘ ’    ?         

. 

 

17. 2 : 1        

    : 

31  2016-       

 
 

() 
 

 

() 

 50,000   10,000 

  9,000  60,000 

  1,000  40,000 

 :    50,000 

  80,000  40,000 

  60,000   

 2,00,000  2,00,000 
    

       ‘’ 

  : 

 (a) , 50,000   24,000    

, 1/4  . 

 (b)   10,000  . 

 (c)   1,000   . 

 (d)  5%   . 

     , 

 ,     . 
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PART – B 

     ANALYSIS OF FINANCIAL STATEMENTS  

 

 Answer all questions from 1 to 4. Each carries 1 score. (4 × 1 = 4) 

1. Equity shareholders are _______ of the company. 

 (a) Creditors (b) Owners 

 (c) Customers (d) None of these 

 

2.  Profit on re-issue of forfeited shares is transferred to ______. 

 (a) General reserve (b) Capital redemption reserve 

 (c) Capital reserve (d) Reserve capital 

 

3.  Debentures which are transferable by mere delivery are ______ debentures. 

 (a) Registered (b) First  

 (c) Bearer (d) Personal  

 

4.  In the statement of profit or loss, revenue from operations include _____. 

 (a) Sales of products (b) Sales of services 

 (c) Other operating revenues (d) All of these 

 

 Answer any 1 question from 5 to 6. Carries 2 scores.   (1 × 2 = 2) 

5. What you mean by forfeiture of shares ? 

 

6. Name any two tools for financial statement analysis. 
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  –  

     

 1  4    . 1  . 
        (4 × 1 = 4) 

1.   ,   _______ . 

 (a)  (b)  

 (c)  (d)  

 

2.          

______   . 

 (a)   (b)    

 (c)   (d)    

 

3.       ______  

. 

 (a)   (b)   

 (c)   (d)   

 

4.  - ,     
_____. 

 (a)   (b)   

 (c)    (d)  

 

  5  6    1  .                 

2 .      (1 × 2 = 2) 

5.      ? 

 

6.      
 . 
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 Answer any 3 questions from 7 to 10. Each carries 3 scores. (3 × 3 = 9) 

7. Write any three objectives of financial statements. 

 

8. What are liquidity ratios ? Give one example. 

 

9. Write any three uses of cash flow statements. 

 

10. Write any three purposes for which securities premium account can be used as per              

Sec. 78 of Indian Companies Act, 1956. 

 

 Answer all questions from 11 to 13. Each carries 4 scores. (3 × 4 = 12) 

11. Give Journal Entries for the following : 

 (a) Shares issued at a premium. 

 (b) Shares issued at a discount. 

 

12. Write four differences between share and debenture. 

 

13. From the following information, prepare a common size income statement for the year 

ended March 31, 2014 and 2015 : 

Particulars 2014-15 

(`) 

2013-14 

(`) 

Net sales 20,00,000 22,00,000 

Cost of goods sold 12,00,000 13,00,000 

Operating expenses 70,000 1,00,000 

Non-operating expenses 10,000 15,000 
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  7  10    3  .      

3  .   (3 × 3 = 9) 

7.       . 

 

8.      ?   . 

 

9.       . 

 

10. 1956-    ( 78)    
     . 

  

  11  13     . 4  . 

       (3 × 4 = 12) 

11.      : 

 (a)    . 

 (b)    . 

 

12.       . 

 

13.      2014, 2015    31  

        : 

 2014-15 

() 

2013-14 

() 

  20,00,000 22,00,000 

   12,00,000 13,00,000 

  70,000 1,00,000 

   10,000 15,000 
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 Answer the following question, which carries 5 scores. (1 × 5 = 5) 
 

14. What you mean by ‘cash from operating activities’ ? Give two examples each for cash 

in-flows from operating activities and cash out-flows from operating activities. 

 

 Answer any 1 question from 15 to 16. Carries 8 scores. (1  8 = 8) 
 

15. Raj Limited issued 10,000 equity shares of ` 10 each payable ` 2 on application, ` 3 on 

allotment and the balance on first and final call. Applications were received for 20,000 

shares and allotment is made on a pro-rata basis. All the installments were demanded 

by the company and all amounts were duly received except the final call of 500 shares. 

These shares were forfeited and reissued at ` 8 each. Give Journal Entries. 

 

16. From the following information, calculate debt-equity ratio, total assets to debt ratio, 

proprietary ratio and debt to capital employed ratio : 

Balance Sheet as on March 31, 2015 

Particulars Note No. 
Amount  

(`) 

I. Equity and liabilities :   

 (1) Shareholder’s funds   

  (a) Share Capital  4,00,000 

  (b) Reserve and surplus  1,00,000 

 (2) Non-current liabilities   

   Long term borrowings  1,50,000 

 (3) Current liabilities  50,000 

  7,00,000 

II. Assets :   

 (1) Non-current assets   

  (a) Fixed assets  4,00,000 

  (b) Non-current investments  1,00,000 

 (2) Current Assets  2,00,000 

  7,00,000 

_____________ 
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      . 5 . (1 × 5 = 5) 
 

14. ‘    ’     ?  -
   -,  -  
  . 

 
  15  16    1   .      

8 .     (1  8 = 8)  
 

15.    10,000    . 10   
    2    ,  3      ,     
      . 
20,000       
 .     500  
      .   
  8      .  
   . 

 
16.     - , 

   ,  ;    
    :  

2015,   31-    

   
 
() 

I.   :   

 (1)      

  (a)    4,00,000 

  (b)     1,00,000 

 (2)  –       
      1,50,000 
 (3)    50,000 

  7,00,000 
II.  :   

 (1)      

  (a)    4,00,000 

  (b)     1,00,000 

 (2)    2,00,000 

  7,00,000 

_____________  
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 
    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

Reg. No. : .....................................  SY 73 

Name : ..........................................   
  Time : 2 Hours 
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PART – A 

           ACCOUNTING   (Scores : 40) 

 Answer all questions from 1 to 8. Each carries 1 score.  (8  1 = 8) 

1. In a sports club, the subscription from members is treated as  

 (a) Capital receipt (b) Capital payment 

 (c) Revenue receipt (d) Revenue payment 

 

2. In order to form a partnership, there should be atleast _________ persons. 

 (a) 1 (b) 4 

 (c) 2 (d) 7 

 

3. The excess of expenditure over the income is called _________. 

 (a) surplus (b) deficit 

 (c) profit (d) loss 

 

4. Monetary value of reputation of a firm is known as _________. 

 (a) goodwill (b) customers 

 (c) patent right (d) copyright 

 

5. Average profit –– Normal profit = _________. 

 (a) Super profit (b) Actual profit 

 (c) Net profit (d) Gross profit 

 

6. At the time of admission of a partner unrecorded asset will be  

 (a) Debited to Revaluation Account (b) Credited to Revaluation Account 

 (c) Credited to Asset Account (d) Debited to Partners Capital Account 
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 –  

              (  : 40) 

 1  8    . 1  .  (8  1 = 8) 

1.         ?  

 (a)   (b)   

 (c)   (d)   

 

2.    ,   _______  . 

 (a) 1 (b) 4 

 (c) 2 (d) 7 

 

3.     _________  . 

 (a)  (b)  

 (c)  (d)  

 

4.       _________. 

 (a)  (b)  

 (c)  (d)  

 

5.   –   = _________. 

 (a)   (b)   

 (c)   (d)   

 

6.        

  

 (a)     

 (b)     

 (c)     

 (d)      
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7. On dissolution of the firm Partner’s Capital Accounts are closed through _________. 

 (a) Drawings Account 

 (b) Cash / Bank Account 

 (c) Realisation Account 

 (d) Loan Account 

 

8. Dissolution of a firm means ___________ 

 (a) Revaluation of assets 

 (b) Closure of business 

 (c) Amalgamation of firms 

 (d) Change in profit sharing ratio 

 

 Answer any 1 question from 9 to 10. Each carries 2 scores.  (1  2 = 2) 

9. List out any four items usually credited in the Partners Capital Account under the 

fluctuating capital method. 

Partner’s Capital Accounts 

Dr.  Cr. 

Date Particulars Amount Date Particulars Amount 

    Balance b/d 

____________ 

____________ 

____________ 

 

 

  

10. What is a “Realisation Account” ?  
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7.       -

  _________ . 

 (a)    

 (b)  /    

 (c)   

 (d)   

 

8.   ‘’    

 (a)    

 (b)   

 (c)   

 (d)    

 

 9  10    1   .              

2 .    (1  2 = 2) 

9.         

   .  

 Partner’s Capital Accounts 

Dr.  Cr. 

Date Particulars Amount Date Particulars Amount 

    Balance b/d 

____________ 

____________ 

____________ 

 

 

 

10.  “   ”     ?  
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 Answer all questions from 11 to 12. Each carries 3 scores. (2  3 = 6) 

11. Compute the value of goodwill from the following information :  

Year 2015 2016 2017 

Profit ` 50,000 ` 60,000 ` 70,000 

 Goodwill is calculated at 2 years purchase of 3 years average profit. 

 

12. ‘P’ ‘Q’ and ‘R’ are partners sharing profits and losses in the ratio of  4 : 3 : 1. On Q’s 

retirement, ‘P’ and ‘R’ determined to share future profits in the ratio of 5 : 3. Compute 

the gaining ratio. 

 

 Answer any 4 questions from 13 to 18. Each carries 4 scores.  (4  4 = 16) 

13. (a) Give any two examples of Not-for-Profit organisations found in your locality. 

 (b) Name the final accounts or financial statement prepared by these organisations. 

 

14. In the absence of ‘Partnership Deed’, specify the rules regarding the following :  

(i) Interest on loans / advances  ____6%  

(ii) Interest on capital ____?  

(iii) Salary to a partner ____?  

(iv) Sharing of profits & losses ____?  

(v) Interest on drawings ____?  
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 11  12     . 3  .  

     (2  3 = 6) 

11.        :  

 2015 2016 2017 

 ` 50,000 ` 60,000 ` 70,000 

   2  , 3   

. 
 

12. ‘P’, ‘Q’, ‘R’  4 : 3 : 1    . ‘Q’ 

 ‘P’  ‘R’   5 : 3     . 

  . 

 

 13  18    4   .              

4  . (4  4 = 16) 

13. (a)       

 . 

 (b)       

 . 

 

14. ‘ ’     -

   :  

(i)   /  ____6%  

(ii)   ____?  

(iii)   ____?  

(iv)   ____?  

(v)   ____?  
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15. Binu and Bindhu are partners sharing profits in the ratio of 3 : 2. They admit Beena for 

1/6th share in future profits, for which she brings ` 50,000 as her capital and ` 30,000 as 

her share of goodwill. Write Journal Entries to record the above in the books of firm. 

 

16. ‘Leena’, ‘Meena’ and ‘Reena’ were partners in a firm with profit sharing ratio of 

5 : 4 : 1, respectively. Meena died on June 30, 2017. The partners decided to calculate 

the deceased partners share of profit up to the date of death on the basis of last years 

profit. The profit of the firm for the year ending March 31, 2017 was ` 1,00,000. 

 The firm closes its books on 31st March every year. 

 (a) Calculate Meena’s share of profit till the date of death. 

 (b) Pass Journal Entry to adjust his share of profit. 

 

17. Ajay, Raju and Sumesh are partners sharing profits in the ratio of 5 : 3 : 2. Raju retires, 

and goodwill of the firm is valued at ` 40,000. Give Journal Entries in the book of the 

firm regarding treatment of goodwill. 

 

18. What Journal Entries will be recorded for the following transactions on the dissolution 

of a firm ?  

 (1) Payment of unrecorded liability ` 4,000.   

 (2) Stock worth ` 7,000 is taken by a partner Mr. Joy. 

 (3) Profit on realization ` 18,000 is to be distributed between partners Joy and Baby 

in the ratio 2 : 1. 

 (4) Unrecorded asset realised ` 5,000. 
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15. ,    3 : 2    . 

  1/6        

.   50,000 ,   

30,000  .    -

    . 

 

16. ‘’, ‘’, ‘’  5 : 4 : 1    ,  

. 2017  30-    . ‘’ 

   ,    

  .  31, 2017  

  1,00,000 .  

     31-    . 

 (a)    ‘’     -

. 

 (b)      . 

 

17. , ,     5 : 3 : 2   

.       40,000 

       

.  

 

18.         

    ?  

 (1)     ` 4,000.   

 (2) .    7,000   . 

 (3)  ,  2 : 1    

  18,000  .  

 (4)      5,000 . 
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 Answer the question 19 which carries 8 scores.  (1  8 = 8) 

19. From the following Receipts and Payments Account of Central Club, prepare an 

Income and Expenditure Account for the year ending 31st December 2017. 

Receipts and Payments Account for the year ending 31st December 2017 

Dr.   Cr. 

Receipts Amount Payments Amount 

Balance b/d  Salaries 1,500 

Bank 35,000 Telephone expenses 500 

Subscription 18,000 Electricity charge 1,600 

Donation 3,000 Printing & Stationery 200 

Hall rent 500 Purchase of furniture  4,500 

Interest on Bank Deposit 400 Miscellaneous expenses 1,000 

Sale of Newspaper 375 Post & Telegraph 1,025 

Entrance fees 750 Entertainment expenses 1,500 

  Balance c/d  

  Bank 46,200 

 58,025  58,025 

    

 Additional information :  

 (1) Salaries outstanding ` 100. 

 (2) Depreciate furniture by 10% per annum. 
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 19-  . 8 .  (1  8 = 8) 

19.    2017  31-     

  .     

       . 

Receipts and Payments Account for the year ending 31st December 2017 

Dr.   Cr. 

Receipts Amount Payments Amount 

Balance b/d  Salaries 1,500 

Bank 35,000 Telephone expenses 500 

Subscription 18,000 Electricity charge 1,600 

Donation 3,000 Printing & Stationery 200 

Hall rent 500 Purchase of furniture  4,500 

Interest on Bank Deposit 400 Miscellaneous expenses 1,000 

Sale of Newspaper 375 Post & Telegraph 1,025 

Entrance fees 750 Entertainment expenses 1,500 

  Balance c/d  

  Bank 46,200 

 58,025  58,025 

    

   :  

 (1)    100 . 

 (2)    10% . 
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PART – B 

      COMPUTERISED ACCOUNTING   (Scores : 20) 

 Answer all the questions from 1 to 4. Each carries 1 score.  (4  1 = 4) 

1. Codes using continuous letters or numbers are called _________. 

 (a) Mnemonic code (b) Sequential code 

 (c) Block code (d) Numeric code 
 

2. The secrete code which allows access to a computer system is called _________. 

 (a) Procedure (b) Password 

 (c) Data audit (d) Data valut 
 

3. Identify the mixed cell reference from the following : 

 (a) A 5 (b) $ A $ 5 

 (c) $ A 5 (d) All of these 
 

4. DBMS stands for _________. 

 (a) Data Business Management System 

 (b) Daily Book Management System 

 (c) Data Base Management System 

 (d) Daily Business Management System 

 

 Answer any 1 question from 5 to 6. Each carries 2 scores. (1  2 = 2) 

5. Write the syntax for the function used for calculating depreciation under diminishing 

balance method. 

 

6. Write any two uses of chart and graphs.  

 

 Answer any 3 questions from 7 to 10. Each carries 3 scores. (3  3 = 9) 

7. Write any three logical functions available in spread sheets. 

 

8. Write the difference between functions and formula.  
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 –  

                                                    (  : 20) 

 1  4    . 1  . 

      (4  1 = 4) 

1.       ________ 

 . 

 (a)   (b)   
 (c)   (d)   
 

2.        
_________  . 

 (a)  (b)  
 (c)   (d)     
 

3.       : 

 (a) A 5 (b) $ A $ 5 
 (c) $ A 5 (d)  
 

4. DBMS  
 (a) Data Business Management System 
 (b) Daily Book Management System 
 (c) Data Base Management System 
 (d) Daily Business Management System 
 
 5  6    1   .             

2 .   (1  2 = 2) 

5.       
  . 

 

6.      ? 

 
 7  10    3   .             

3  .   (3  3 = 9) 

7.         . 
 

8.     .  
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9. Match the following :  

 A  B 

(i) ### (a) A wrong argument is given in the formula 

(ii) # Value (b) Spread sheet does recognize the text 

(iii) # Name (c) A numerical value in a column is not enough to display 

 

10. Suggest data types for the following fields :  

Field Name Data type 

Student ID Number 

Student Name _______?   

Student Date of Birth _______?   

Student Sex _______?   

 

 Answer the question 11 which carries 5 scores. (1  5 = 5) 

11. Give the voucher type to be selected for following transactions :  

Transactions Voucher Type 

1. Started business  

2. Opened a bank account with SBI  

3. Salary paid  

4. Depreciation charged on furniture  

5. Returned goods to Sam a supplier  

______________ 
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9.   :  

 A  B 

(i) ### (a) A wrong argument is given in the formula 

(ii) # Value (b) Spread sheet does recognize the text 

(iii) # Name (c) A numerical value in a column is not enough to display 

 

10.  field-  data type-  :  

Field Name Data type 

Student ID Number 

Student Name _______?   

Student Date of Birth _______?   

Student Sex _______?   

 

 11-   . 5 . (1  5 = 5) 

11.       -

 .   

Transactions Voucher Type 

1. Started business  

2. Opened a bank account with SBI  

3. Salary paid  

4. Depreciation charged on furniture  

5. Returned goods to Sam a supplier  

______________  
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Reg. No. : .....................................  SY 74 

Name : .........................................   
 

Time : 2 Hours 
  Cool-off time : 15 Minutes 

 

 
Part – III 

COMPUTER APPLICATION  
Maximum : 60 Scores 

Special Schools (H.I.) 

 
General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

MARCH 2019 
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 Answer all the questions from 1 to 10. Each carries 1 score. (10  1 = 10) 
1. Pick valid identifier from the following : 

 (a) signed (b) goto 

 (c) cin (d) do 

 

2.  Identify last index of the array A [5]. 

 (a) 0 (b) 6 

 (c) 5 (d) 4 

 

3.  What would be the data type to store the area of a circle ? 

 (a) char (b) float 

 (c) int (d) void 

 

4.  Pick the odd one out : 

 (a) strlen (b) pow 

 (c) strcpy (d) strcmp 

 

5. Name the protocol responsible for e-mail communication. 
 

6. The keyword used to declare a variable in JavaScript is _____. 
 

7. CMS stands for _____. 
 

8. Link from one webpage to another webpage is done using _____ attribute of <A> tag. 
 

9. The lowest level of data abstraction is _____. 

 

10. DML stands for _____. 

 

 Answer any 8 questions from 11 to 20. Each carries 2 scores. (8  2 = 16) 
11. Write array declaration statement for the following : 

 (a) A list of 5 marks 

 (b) A list of 10 real numbers 

 
12. Predict the output of the following C++ statements : 
 char str[8]=“WELCOME”; 
 cout <<str[4]; 
 cout <<“\n”<<str; 
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 1  10    . 1  . 

       (10  1 = 10) 

1.       : 

 (a) signed (b) goto 
 (c) cin (d) do 
 
2.  A [5]     . 
 (a) 0 (b) 6 
 (c) 5 (d) 4 
 

3.            ? 
 (a) char (b) float 
 (c) int (d) void 
 

4.    : 
 (a) strlen (b) pow 
 (c) strcpy (d) strcmp 
 
5. -     . 
 
6. JavaScript-       _____ 

. 
 
7. CMS  _____ . 
 
8.       <A>   

_____  . 
 
9.     _____. 
 
10. DML   _____ . 
 
 11  20    8  . 

2  .   (8  2 = 16) 
11.          : 
 (a) 5   
 (b) 10     

 
12.   C++      : 
 char str[8]=“WELCOME”; 
 cout <<str[4]; 
 cout <<“\n”<<str; 
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13. Write function prototype. 

 A function print( ) takes two float type arguments and nothing is returned. 

 
14. Write any four attributes of < BODY > tag. 

 

15. Write any two built-in functions in JavaScript with example. 

 

16. Write two examples for RDBMS. 

 

17. Write any two aggregate functions in SQL. 

 

18. Write attributes of <INPUT> tag. 

  

19. Match the following :  

(1) Financial Module (a) Supply chain 

(2) ORACLE (b) Functional unit of ERP 

(3) BPR (c) ERP package 

(4) SCM (d) Re-engineering 

 

20. GPS stands for _____. Explain use. 

 

 Answer any 8 questions from 21 to 30. Each carries 3 scores. (8  3 = 24) 

21. Rewrite the following using while loop : 

 for (int i = 2, sum = 0 ; i < = 20 ; i + = 2) 

 sum + = i ; 

 

22. Categorize the following tags into container tag and empty tag : 

 <BR>, <P>, <BODY>, <B>, <HR>, <HTML> 

 

23. Match the following : 

<H1> Direction 

<MARQUEE> 

<IMG> 

src 

Align 

 Border 
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13.    . 

 print( )       .   
. 

 
14. < BODY >     . 
 
15. JavaScript-   -   

. 
 
16. RDBMS-   . 
 
17. SQL-     aggregate  . 
 
18. <INPUT>   . 
  
19.   :  

(1) Financial Module (a) Supply chain 

(2) ORACLE (b) Functional unit of ERP 

(3) BPR (c) ERP package 

(4) SCM (d) Re-engineering 

 
20. GPS _____ .  . 
 
 21  30    8  . 

3  .   (8  3 = 24) 

21. while     : 
 for (int i = 2, sum = 0 ; i < = 20 ; i + = 2) 
 sum + = i ; 
 
22.    container  empty    : 

 <BR>, <P>, <BODY>, <B>, <HR>, <HTML> 
 
23.   : 

<H1> Direction 

<MARQUEE> 

<IMG> 

src 

Align 

 Border 
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24. Write the difference between the following statements : 
 document  write (“welcome”) ; and 
 alert (“welcome”) ; 
 
25. Explain any two hosting methods. 
 

26. Write an example for CREATE TABLE command. 
 
27. Write HTML code to divide a browser window into three frames. 

50% Page 1 – htm 

50% Page 2 – htm Page 3 – htm 

 50% 50% 

 
28. Write advantages of database. 
 
29. (a) Define cyber crime. 
 (b) Name any two cyber crimes against individual. 
 
30. Write any three benefits of ERP. 
 

 Answer any 2 questions from 31 to 33. Each question carries 5 scores. (2  5 = 10) 
 

31. Write C++ program to find the product of two numbers using a user defined function. 
   
32. Write HTML code to create the following table : 

1 

2 
3 4 

5 6 

 
33. Consider the following STUDENT table :  

Acc. No. Name Branch Amount 

1001 Anil TVM 3000 

1002 Rahul KKD 2000 

1003 Geetha MPM 1000 

1004 Sumi CNR 5000 

 Write SQL statements to 
 (a) Display all records. 
 (b) Update the amount of Rahul to 10,000. 
 (c) Delete the details of Anil. 

____________ 
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24.      : 

 document  write (“welcome”) ; and 
 alert (“welcome”) ; 
 

25.      . 
 

26. CREATE TABLE command-  . 
 

27.       HTML  : 
50% Page 1 – htm 

50% Page 2 – htm Page 3 – htm 

 50% 50% 
 

28.   . 
 

29. (a)   .  
 (b)       

. 
 

30. ERP-    . 
 
 31  33    2  . 

5  .   (2  5 = 10) 
 

31.        
 C++ program . 

 

32.      HTML   : 

1 

2 
3 4 

5 6 
 

33.   STUDENT   : 

Acc. No. Name Branch Amount 

1001 Anil TVM 3000 

1002 Rahul KKD 2000 

1003 Geetha MPM 1000 

1004 Sumi CNR 5000 

 SQL  . 
 (a)   . 
 (b)   10,000 . 
 (c)   . 

____________  
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